Unit 8: Stoichiometry

Multiple Choice Practice
Directions: Each of the questions or incomplete statements below is followed by four suggested answers or completions.  Select the answer that is best in each case and then fill in the corresponding circle on the answer sheet.

Note: For all questions, assume that the temperature is 298K, the pressure is 1.00 atm, and solutions are aqueous unless otherwise specified.
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7) What is the maximum mass in grams of NH3 that can be produced by the reaction of 1.0 g of Ny
with 3.0 g of Hy via the equation below?

Na () + Hp (9) — NHz (g) (not balanced)

Ay12 B)20 Q061 D)40 B17
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1. Calculate Which of the following reactions had the greatest percent
yield?

A theoretical yield 52.3 g; actual yield 507 g
B theoretical yield 17.1 g; actual yield 15.7 g
C theoretical yield 38,8 g; actual yield 36.2 g
D theoretical yield 24.6 g; actual yield 22.5 g
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2. Predict What is the mass of Br, that will form if 5.35 g of KBr reacts
with excess CL,? The chemical equation s Cl, + 2KBr —» 2KCl + Br,?
A 180g

B 268g
C 359g
D 718y
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36 Given the balanced equation representing a
reaction:

2H, + 0, — 2H,0 + energy

Which mass of oxygen completely reacts with
4.0 grams of hydrogen to produce 36.0 grams of
water?

(1)80g (3)320¢g

(2)160g (4) 400 ¢
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4) The combustion of propane (C3Hg) in the presence of excess oxygen yields CO and HyO:

C3Hg (g) + 502(g) — 3CO2(g) + 4H20(8)

‘When 2.5 mol of O are consumed in their reaction, mol of CO are produced.
A)15 B)25 050 D) 6.0 E)3.0
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5) Calcium carbide (CaC2) reacts with water to produce acetylene (C2Hz):
CaCy (5) + 2HyO () — Ca(OH) (s) + CoHy (8)

Production of 13 g of CzH requires consumption of gof HO.
A)90 B)18 0 48x102 D)45 E)4.8x10-2

6) What mass in grams of hydrogen is produced by the reaction of 4.73 g of magnesium with 183 g of
water?

Mg (9) +2H20 () — Mg(OH)2 (5) + H2 ()

A)0204 B) 0.0485 Q) 00162 D) 0219 E) 0102




